| JTLEUCLLL

L7 7
AL

LB

N

)
7

2\ =
o@:

q 5
i
\N ,o.-\\ &m.,

Partdrawing for HR2800 - Pagina 1




Partdrawing for HR2800 - Pagina 1

Nr.

001
002
003
004
005
006
007
009
010
011
012
013
014
018
019
020
021
024
025
026
027
028
029
030
031
032
033
034
035
036
037
038
039
040
041
042
043
048
049
050
051
052
053
054
056
057

Part nr.

286263-4
233940-9
417629-9
257241-1
345187-4
233916-6
922241-7
921919-9
419975-6
158288-7
267354-0
262133-1
267354-0
213620-3
922128-3
419984-5
216022-2
961140-8
331769-8
324669-9
324402-9
421955-0
324216-6
213073-6
233917-4
267105-1
234021-2
331770-3
213435-8
256099-5
324733-6
213227-5
331776-1
233954-8
158282-9
227532-4
266420-0
213262-3
162256-4
419988-7
213218-6
443129-3
419987-9
213406-5
324793-8
211232-6

Name

CAP 35 HR2440/2460/2470

RING SPRING 19 HR2020/2432
CHUCK COVER HR2440/2460/2470
RING 21 HR1830/2020/2230/2440
GUIDE WASHER HR2440/2460/2800
CONICAL SPRING 21-29 HR1830
HSH BOLT M5X25 HR2800/2811FT
BOLT M8X110 HR2800

GRIP BASE 20 HR2800

BARREL CPL HR2800

FLAT WASHER 31 HR2800/2811FT
URETHANE RING 31 HR2800

FLAT WASHER 31 HR2800/2811FT
O RING 46 BSR730-6936FD-6980FD
HSH BOLT M4X16 HR2800/2811FT
CRANK HOUSING COVER HR2800
STEEL BALL 7,0 HR1830/2432
RETAINING RING HR2800

SLEEVE 9 HR2800

IMPACT BOLT HR2230/2800

RING 10 BHR202/261/261T
CUSHION RING 13 HR2460

O RING CASE HR2440-BHR261/261T
O RING 9 HR2460-BHR202/261T
RING SPRING 28 HR2800/2811FT
FLAT WASHER 29 HR2800
COMPRESSION SPRING 30 HR2800
DRIVING SLEEVE HR2800

O RING 26 BCS550

PIN 6 HR2800

STRIKER HR2460

O RING 16 HK0500-BHR261
cilnderzuiger

RING SPRING 21 HR2800
CONNECTING ROD CPL HR2800
SPIRAL BEVEL GEAR 31 HR2800
TAPPING SCREW 5X20 HR2800

O RING 18 HR4011C/3210FCT
LINK LEVER CPL HR2800

FILTER CAP HR2800

O RING 16 AN7000 33

FILTER HR2800

CRANK CAP HR2800

O RING 30 HR4011C

CRANK SHAFT HR2800

BALL BEARING 6002LLU HR2800

I'Hl.fl..! !!'l




Partdrawing for HR2800 - Pagina 1

Nr.

058
059
060
061
062
063
064
065
066
067
068
069
070
071
072
073
074
076
077
078
079
080
081
082
083
084
085
086
087
088
089
091
092
093
094
095
096
097
101
102
103
104
105
109
110
111

Part nr.

961055-9
233951-4
223167-9
226653-9
267353-2
961034-7
345818-5
254239-9
227524-3
254239-9
210105-0
125386-2
961006-2
210024-0
424028-8
158287-9
213445-5
331775-3
210054-1
253171-4
240095-3
515294-9
266325-4
210023-2
681656-4
419989-5
526584-5
419981-1
643766-5
266421-8
194074-2
419983-7
266326-2
638568-2
638567-4
638566-6
266326-2
158284-5
419977-2
911258-5
266420-0
863909-5
419992-6
645200-1
419990-0
158281-1

Name

RETAINING RING S-15 2107FK
SPRING 16-26 HR2800

CLUTCH HR2800

HELICAL GEAR 29 HR2800

FLAT WASHER 8 HR2800
RETAINING RING HR2800

CUP WASHER 16 HR2800

KEY 4 HR2800

SPIRAL BEVEL GEAR 9 HR2800
KEY 4 HR2800

BALL BEARING 6001LLU HR2800
TORQUE LIMITER ASSY HR2800
RETAINING RING S-10 KP0810CK
BALL BEARING 608LLU BHR200S
SEAL RING HR2800

GEAR HOUSING CPL HR2800
O-RING 26 9555NB-9558NB-GA5030
SLEEVE 10 HR2800
KOGELLAGER 6000LLU

FLAT WASHER 10 HR2800

FAN 64 HR2800

ARMATURE ASSY 240V HR2800
TAPPING SCREW 4X70 MT953
BALL BEARING 627DDW HR2230
INSULATION WASHER 9565H
BAFFLE PLATE HR2800

FIELD ASSY 240V HR2811FT
MOTOR HOUSING HR2800
BRUSH HOLDER HR2800
TAPPING SCREW 3X10 HR2800
CARBON BRUSH CB-325 GD0600
REAR COVER HR2800

TAPPING SCREW 4X18 HR2800/11FT
CHOKE COIL UNIT HR2800

LEAD UNIT HR2800

LEAD UNIT HR2800

TAPPING SCREW 4X18 HR2800/11FT
CHANGE LEVER CPL HR2800
HANDLE HR2800

SCREW M5X35 HR2800-LF1000
TAPPING SCREW 5X20 HR2800

F/R CHANGE LEVER HR2800
ONTSTORINGS CONDENSATOR P
SWITCH LEVER HR2800/2811FT
SWITCH HOLDER CPL HR2800

I'Hl.fl..! !!'l




Partdrawing for HR2800 - Pagina 1

Nr.
112
113
114
115
116
117
118
119
008-1
022-1
023-1
055-1
075-1

Part nr.

650591-7
419980-3
266326-2
665890-4
682573-1
266326-2
687169-3
685722-9
158057-6
123191-1
213344-1
158289-5
213678-2

Name

SWITCH HR2800

HANDLE COVER HR2800

TAPPING SCREW 4X18 HR2800/11FT
NETSNOER 2X1.00 4.0MTR P

CORD GUARD 10 HR2800/2811FT
TAPPING SCREW 4X18 HR2800/11FT
STRAIN RELIEF HP1620-GA9020(S)
SPONGE SHEET JR3050T-HM1810
GRIP 36 HR2460/2470
BOORHOUDER COMPL.HR2811F A
OIL SEAL 9 HR2800/2811FT

CRANK HOUSING CPL HR2800
KEERRING 12MM HR3210FT A

'H!{l,;!!!‘fl




